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Which one of the following authentication method is used by SSH?
public-key

Which one of the following extends a private network across public networks?
virtual private network

Which one of the following is a transport layer protocol?
stream control transmission protocol

Which field is a field within an OSPF packet header?
All of the options

Which of the following is a reason for reduced maintenance costs when using 
networks?
Backups

Which of the following is true with respect to the datagram networks?
all of the options

Which of the following describes a network where all computers are considered equal 
with no one computer in charge?
Peer-to-peer

Which of the following is not a purpose for a network?
Assist collaboration

Where should we use default routing?
On stub networks- which have only one exit path out of the network

The cost savings usually brought about from buying reduced numbers of data 
processing items can be as a result of ____
Economies of scale
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